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Typical Family

Financial Rescue Strategy

The Typical Family is financially stressed, as shown by its 2007 cash flow statement. Although, the family makes a profit and their balance sheets shows that they own a reasonable proportion of their assets.

However, they are now unable to meet their debts as they fall due. Because the family owns a sizeable proportion of its assets, there is no need to consider bankruptcy.

There is a need to re-structure their financial situation in order to remove the source of financial stress.

What steps would you recommend?

Options

Joe and Maria earn a considerable income between them. A significant pay rise for one or both of them would help, but this is unlikely.

They could economise on their spending:

Young Jennifer could attend a public school rather than a private school. This could save about $15,000 a year. However, young Jennifer would be more than somewhat hostile to such action. Furthermore, she has decided that she IS going on the school trip to Germany in late 2008. This is likely to cost about $5000.

Less could be spent on entertainment. Joe would be happy with this saving of about $8000 per year, but Maria is a party girl and her friends might ostracise her. Also, Maria’s wine collection is inviolable in her eyes and she has an apparently insatiable appetite for shoes. Her favourite song is Material Girl.
The other problem with belt tightening is that the effect would be felt gradually over the year. The Typical Family finances need some urgent corrective action to restore balance, combined with economising on their living expenses.

This leads us to the family balance sheet.
Debt is the family’s main concern, so immediate action is called for to reduce debt. What is the best course of action?

The family could sell their home, settle their debts, and move to lesser accommodation or rent. This, however, seems a drastic step to take. Their mortgage payments are not at the heart of their troubles. It is not long term debt that is distressing the family, but rather their shorter term debt.

Joe could sell the shares he bought last year. He borrowed $20,000 for $30,000 worth of shares. Moreover, as the purchase was made through the company he works for, at highly advantageous interest rates (he only paid $1,600 interest on the loan) and he received a handsome dividend of $10,000 (a 33% dividend!), Joe would be most unwise to part with the shares. They are one positive thing the family is doing, apart from superannuation, to increase their wealth.

The obvious areas for attention are those assets that add no value to the family (apart from lifestyle considerations). These assets are the motor bike, Jet Ski and possibly the vehicles. It would also be useful to recover the loan to Joe’s brother Ray as soon as possible, in order to reduce the overdraft. Interestingly, it is Joe who has a passion for mechanical toys, so Maria and young Jennifer will not be hostile if any re-structuring involves these items (apart from Maria’s Mazda 3 which, like her wine, is inviolable).

What happens if Joe recovers the loan to Ray, and disposes of the motor bike and jet ski?

The motor bike is valued at $20,000 and the Jet Ski is valued at $10,000. Assuming Joe can sell them at market value, he has $30,000 in cash that he will use to pay $30,000 in debt. In doing this, he will also reduce interest payments over the coming year by $2,600. This will increase the family profit by$2,600.  It will have a beneficial effect on the family’s cash flow – there will be savings in interest payments and capital repayments.
Joe should also sell his 4WD and buy a cheaper model. If he realises $50,000 for his 4WD and buys a second hand 4WD for $20,000, he has a further $30,000 to pay down debt and save a further $2,600 in interest payments.
Recovering $5000 from Ray will help in the immediate future, by reducing the overdraft ($14,000). 

The family will also need to reduce its expenses in order to become cash flow positive. Maria will have to spend less on shoes and entertainment – this may be a challenge for conflict avoiding Joe!

Typical Family

Balance Sheet As at 30 June 2008

Fixed Assets 



Family Capital


313,200

House


500,000

Contents

100,000

Vehicles:



Long Term Liabilities

4WD


 20,000

Mortgage


385,000
Mazda 3

 20,000








Loan – Shares


 16,600

Investments:



Superannuation
 

87,000



Shares


 30,000



Current Assets



Current Liabilities
Cash


   2,800              Credit cards


45,000



759,800





759,800
Typical Family

Profit and Loss Statement

For the year ending 30 June 2008

Income

Salary – Joe Typical





100,000

Salary – Maria Typical





 63,000

Interest received 




   
   1,000

Dividends received





 10,000

174,000

Less expenses:

Living expenses



18,000

Vehicle expenses


  5,000

Utilities




  2,000

Insurance


 
  1,000

Telecommunications


  2,000

Medical insurance & expenses 
  
4,000

School fees



20,000

Interest on loans and cards

38,800

Entertainment



  5,000
      95,800

Taxation




      40,000


135,800









Family Profit

  38,200

Typical Family

Statement of Cash Flows

For the year ended 30 June 2008

Cash flows associated with living:

Salary – Joe




100,000

Salary – Maria




  63,000
Repayment of loan – Ray


   5,000

168,000
Less: Living expenses

57,000

         Taxation


40,000



97,000








 71,000

Cash flows from investing activities:

Dividends




10,000

Less: Payments for loan – shares


Interest


1,600


Capital


3,400

5,000

 5,000
Cash flows from financing activities:

Interest received



1,000

Less: Interest paid

37,200

         Capital repaid

23,000

(60,200)











(59,200)

Net cash increase (decrease)




 16,800

Cash at beginning of year




(14,000)

Cash at end of year





   2,800
